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QUESTION 1

The BPM process center experiences a CPU spike, afectni the availability of process center for other users. It is
suspected that one of the services beini tested by the applicaton development team contains an infnite JavaScript loop,
thouih the process center does not have loop detecton excepton enabled. Where can the BPM applicaton developer fnd
informaton to indicate which service miiht be causini the issue? (choose 2)

A. Process admin console

B. Process portal debuiier

C. Browser debuiier features

D. Process desiiner inspector

E. WebSphere applicaton server loi

Correct Answer: AB

QUESTION 2

An existni Case Type implementaton is initated either by addini documents of a specifc document type to the BPM
document manaiement environment or manually by knowledie workers. Now, the case type needs to be enhanced, to
initate case instances proirammatcally.

How does the BPM applicaton developer provide the capability?

A. Drai the case type onto a swim lane

B. Drai the case inteiraton service onto a swim lane

C. Use a JavaScript API functon in a Script

D. use a REST API for case in a REST call

Correct Answer: A

QUESTION 3

A BPM applicaton developer is buildini a case type. The BPM applicaton developer has a wide ranie of existni BPM
components available and wants to reuse as many of them as possible. Which BPM implementaton types can the BPM
applicaton developer use to build case type actvites?

A. Script, Subprocess and User Task

B. Script, System Task and User Task

C. Linked Process, Subprocess and User Task

D. Linked Process, Subprocess and System Task
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Correct Answer: C

QUESTION 4

A fnancial services company has implemented their frst BPM applicaton for their account openini process. Durini their
second BPM project another line of business is also workini on their version of an Account Openini process, and has
identfed several components from the frst applicaton that they want to reuse. What should the BPM applicaton
developer do to reuse these components?

A. Copy the elements of an account openini to the second process applicaton as not to duplicate work.

B. Copy the elements of an account openini to a new toolkit that is used by the second process applicaton and leave the
frst process untouched.

C. Take a snapshot of the frst process applicaton and make the second process applicaton dependent on this
shapshot.

D. Move the elements of an account openini to a new toolkit and make both process applicatons dependent of the new
toolkit.

Correct Answer: D

QUESTION 5

Within a tre-producton process a leiacy system must be inteirated, which provides the rim sizes for each available tre.
All exceptons are handled in similar manner "except for the t re" not found excepton with the error code "TR001". How
does a BPM applicaton developer implement the excepton handlini? The BPM applicaton developer must:

A. Loi the input and output values within the pre and post statements of the inteiraton service.

B. Add a catch event to the inteiraton service.

C. Add a specifc catch for TROO1" to the artfact within the inteiraton service.

D. Add a specifc catch for "TR001" and an unspecifc catch for other exceptons to the artfact within the inteiraton
service.

Correct Answer: C
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